Public Administration

Final Exam Review Sheet

Multiple Choice (10 Questions, 4 points each): 

1. Creative federalism refers to the strict division of labor between states and the national government. 

a. True

b. False

2. The main conclusion of the Grace Commission is that “the President needs help.”

a. True

b. False

3.  According to Mary Parker Follett, the giving and taking of orders should be: 

a. Circular, not linear behavior. 

b. Linear, not circular behavior. 

c. Hierarchical in nature to preserve the order of the situation. 

d. Permanent, since changing orders are as good as no orders. 
4.  Which of the following is not an example of a street level bureaucrat? 

a. a police officer 

b. a teacher

c. a clerk at the DMV

d. All of the above are examples of street level bureaucrats. 

5. According to Rivlin, when coming up with performance measures we should: 

a. Avoid having a single performance measure, it could be misleading

b. Select measures that reflect the difficulty of the problem
c. Use absolute scores whenever possible because other measures could be misleading 

d. A and B

e. A and C 

6. Kelo v. City of New London relates to: 

a. The constitutionality of creative federalism
b. The authority of economic development agencies
c. The President’s ability to control the bureaucracy

d. The requirement that local governments balance their budgets

7. According to Monroe County Budget Director Bill Carpenter, the biggest challenge facing county governments in New York State is: 

a. The rising cost of Medicaid

b. The Matrix system of organizational management

c. Court-mandated legal requirements that limit the County’s flexibility

d. The politics-administration dichotomy

8. Efforts by corporations to gain public benefits through lobbying are a good example of:

a. Economies of scale

b. Free-Rider problem

c. Public Goods Problem

d. Rent Seeking

9.  PPBS was pioneered by: 

a. The Rand Corporation and the Department of Defense

b. The Brownlow Commission

c. The City of New London, Connecticut

d. German Philosopher Max Weber

10. According to Martin Landau, the biggest weakness of government bureaucracy is that it is redundant and wasteful. 

a. True
b. False
Identifications (6 questions, 5 points each). 
Answer all 6.  1-3 sentence answers. 

1. Give four reasons that a “business” approach is not an appropriate model for public administration. 

1. ________________________________________

2. ________________________________________

3. ________________________________________

4. ________________________________________

2.  In Crisis and Leviathan, Higgs offers six explanations for government growth.  One of them is “Crisis.”  List the other five. 
1. _______________________

2. _______________________

3. _______________________

4. _______________________

5. _______________________

3. What does PPBS stand for and what is it, exactly?  
4. According to Goodsell, what factors mitigate against the “bigness” of bureaucracy? 
5. What are the characteristics associated with bureaucrats at the beginning, middle and end of the life cycle of bureaus? 
6. Why are regionalism and land use restrictions linked to one another by proponents of smart growth? 

Essay (25 points): 

What is the image of the bureaucracy in the movie Brazil?  Relate it to class discussions on representative bureaucracy, street level bureaucracy, Rivlin and Higgs.  Would Goodsell agree that this critique of bureaucracy is well founded?  Why?
